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CGL/CHSL/CPC

Thank-you Sir for this Tremendous Class Session of today.. ., =
And

My Answer for today's Homework is-

Option C ==

And logic is,

WIOTIL.. T day ago

.2022-23

As Volume is a 3 dimentional entity.. So, the total Volume must be a Cube of any no...

1+7=8.

1@

Thank-you So Much, Sir Ji.. =
Show less
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v View reply from Mahendras : Online Videos For Govt. Exams

Mohit.. 1 day ago

And Sir, logical reasoning Answer is-
Radius also get halves Bcoz of similarity of triangles..
And Let initial Height=2, radius=4.
Original volume =32 1.

After change,

The volume of upper region = 41
And left Volume = 32-4 =281

So,

The ratio of Volumes ==4:28=1:
L

Thank-you So Much, Sir Ji.. =

Show less
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Q:-HW- If a cone is divided into two parts by drawing a plane through

the midpoint of its axis then the ratio of the volume of the two parts of

the cone is?

TS Teh Ve o1 I8k T8 o Wedl Toig & Uoh WAt Tiereht a1 WRT
foraTioTa foRaT STt & AF 9ieh o ST W o SATAA Rl STTUTd 82

(a) 1:3
(b) 1:5
(¢) 1:7
(d) 1:6
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Q:-1. 15 litres of a mixture contains alcohol and water in the ratio 1:4 .If 3 litres

of water is mixed in it, the percentage of alcohol in the new mixture will be-

15 Y. TRYUTH 1 : 4 % ATATA | STeehlzet AR UL 31 Tie Fasror 7 3 &t v
oA SATaT 2 Qv AU {2t § steehiget okt uiaura feraar grm?
(A) 15 %

(B) 16 2/3 %
(C) 20 %
(D) 25 %
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Q:-2- The marked price of an article is Rs.11200 whose cost is Rs.8000
and a profit of 12% is made after giving a discount of x%, then what will

be the value of x

%. 8000 hHT TTRTA ATAT Teh & AT S Tehe T ©.11200 FHeTRa feram mar 2 |
X% R TE I o ATE HT 12% JTH FIAT &, A7 x T HIT FIT TRIT?

(A) 20

(B) 21

(C) 22

(D) 23
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Q:-3. 10. A train of length 800 m. is running at the speed of 114 km/hr. If

the train crosses a tunnel in 1 minute. What is the length of the tunnel (in

m)

800 HY. TTFTS hi Ueh ¢ 114 TorHT./EeT T Tt | AT & €, Tl 98 Tehat
U1 T 1 THAE H IR Tt g a G oht orealrs (X v g)

(A) 11
(B) 700

(C) 3620
(D) 1100
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:-4. Meena's age is four times her son's present age and four seventh of

her father's age. The average of the present ages of all of them is 32
years. What is the difference between the Meena's son's present age and

Meena's father's present age?

HIAT <Y AT 3T U Y AT T AR TAT § SR 10 TUaT hi 31T hT IR
FHATIT E (At hT TAAT SO AT 32 6 2 | HiAT o6 T Y T 1
R HAT ok AT it SaaT AT | 47 STl § 2

(A) 48 years/El'Gi‘

(B) 46 years/<‘=|'l§‘

(C) 44 years/EI'Gi‘

(D) 42 years/El'Gi‘
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Q:-5. If 30% of P is added to 40% of Q, the answer is 80% of Q. What

percentage of P is Q?

IfE P T 30% Q F 40% | SIS FEaT ST, I9% Q T 80% STH BIAT S | P T
fRaaT ufava Q 2 2

(A) 30%
(B) 40%
(C) 70%
(D) 75%
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Q:-6.If the meanof x, x+3,x+5,x+ 7 and x+ 10 is 9 then what is the

means of last three observations?

e x, x +3,x+5, x + 7 3T x + 10 HT AT 9 T, AT AW TAATRAT hT T
HTET 82

1
(A) 103
1
(B) 113
0) 12
(©) 123

D14Z
(D) 14
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Q:-6.If the meanof x, x+3,x+5,x+ 7 and x+ 10 is 9 then what is the

means of last three observations?

e x, x +3,x+ 5, x + 7 3T x + 10 HT AT 9 T, AT AT/ 17 TLA0TE kT AT
HTET E ?

Al()1
(A) 10

C12Z
(©) 123




Q:-7. The sum of two numbers is 36 and their H.C.F. and L.C.M. are 3
and 105 respectively. The sum of the reciprocals of the two numbers is
31 TEATI T TN 36 T 37 ITRT H.A.U. 31 1.9.9. SHAIT: 3 3105 |
T EHEATS o SeshAT T AT
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Q:-8. : Find the average of first 40 natural number ?

3qT:- TAX 40 TAThideh HEAT T HTHT FTA hI 102

(A) 20

(B) 20.5

(O) 21

(D) None of these/S'—I'ﬁ‘ ﬁaﬁ?ﬂﬁ
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Q:-9. In an examination 75% students passed in Physics and 60% passed

in Chemistry. 25% failed in both and 240 passed the examination. Find

the total number of students of that class.

Teh GEAT °, 75% BT Hifdeh 3= § STl 3id @ TR 60% BT EET
foramr & 3ot €t § | 25% 211 W STl 1 € S 240 dver | Sl g

| herT | et BT <hl HEAT JTA IR |
(A) 492
(B) 300
(C) 500
(D) 400
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Q:-10. While selling an article, Komal gives a discount of 5%. If she gives

a discount of 6%, she earns Rs.45 less as profit. What is the marked price

of the article?
T TEq ST oo THI, THITA 5% hl TE ol § | ATS T8 6% <l Te aat ¢ av
T 45 T, T o U H HH ATH L1 8 | TG 61 ifohd Ao T8 ?

(A) Rs. /5.3750
(B) Rs. /5.4200
(C) Rs. /5.4500
(D) Rs. /%5.2250
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Q:-11. The cost price of an article is 40% of the selling price. What

percent of the cost price is the selling price?

Uk T ohT 3h Hed SHeh (Isha 7o T 40% ¥ | Foshar 9o o 9ed &1
feram ufaera @ 2

(A) 140%

(B) 200%

(C) 220%

(D) 250%
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Q:-12. A certain amount becomes Rs.7803 at the end of a year at the 4%

rate of interest compounding semi — annually. The amount is

IS YA, FASATIVh T A HATT TIshafeg AT T 4% ST A
39T S OX Uk I o oid W %.7803 B WAl ¥ | I8 SRR

(A) Rs. /5.7000
(B) Rs. /5.7200
(C) Rs. /5.7500
(D) Rs. /5.7700
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Q:-13. A shop keeper offered a discount of 9% for and article but he
marked it at 25% higher than the cost price. Find his profit percentage.
Teh GehT-E N Teh & W 9% <hl PE AT 8 Tlich I8 thdl Tod 8 25% 2Aferh
3ifeRd THIAT & AT S|RT T TH TfA9Td AT shifSTw

(A) 12.05%
(B) 13.50%
(C) 13.00%
(D) 13.75%




Q:-13. A shop keeper offered a discount of 9% for and article but he
marked it at 25% higher than the cost price. Find his profit percentage.
Teh GehT-E N Teh & W 9% <hl PE AT 8 Tlich I8 thdl Tod 8 25% 2Aferh
3ifeRd THIAT & AT S|RT T TH TfA9Td AT shifSTw

(A) 12.05%
(B) 13.50%
(C) 13.00%




Q:-14. One pipe can fill a tank three times fast as another pipe. If

together two pipes can fill the tank in 36 min. The slower pipe alone can

fill the tank in
Ueh U3 Ueh <o Shl GO UTST ehl STUEIT i AT o WLaT 2| Al 341 uTga

o Y 36 Tie § R Eeha § At &t i arer utegw feRaw awa § wem?
(A) 157 minutes/fH=e
(B) 162 minutes/THe
(C) 144 minutes/fH=e
(D) 172 minutes/fH=e
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Q:-15. The ages of A and B in the ratio 3: 1. Fifteen years hence, the ratio

will be 2: 1, their present ages are —
A 3R B Y 3T T TTUTA 3: 1 Bl 15 TH TG kT TdHT IH T AT 2: 1

ZITT| 3Teh! TARTT 3T 2 —

(A) 30, 10
(B) 45, 15
(C) 60, 20
(D) 51,17
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and 52% failed in Science. If 17% failed in both the subjects,

find the percentage of those who passed in both the subjects?
Ueh UHIT H 42 % Terameft iuta | 52% feremnef o= § sawd |d

21 A 17% T Foat § 10w T @ ar 34 feafer st ufave

T A AT ST forerat & weT 35U o
(A) 23
(B) 24
(C) 25
(D) 26










